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1.  Explain the relation between Economic Development and environment and also explain
Kuznet Curve. 14

OR

What is Ecosystem ? What are the functions of Ecosystem ?

2. What do you mean by market failure in Environmental Economics ? How asymmetric
information and non-convexity result in market failure. 14

OR

Explain market failure in case of externalities and public goods.

3. How do ‘Pigouvian Tax’ and *“Tradeable Pollution Permits Policy” control
environmental pollution ? 14

OR
Explain the following instruments to control pollution :
(@ Command & Control policy
(b) Liability Rules
(c) Subsidy

4.  Explain ‘Limits to Growth’ and “Zero Growth” with criticisms. 14
OR
Explain H. Daly and Solow-Hartwick’s models of sustainable development.
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Which Law of Thermodynamics states “The total entropy of any isolated
thermodynamics system always increases over time, approach a maximum value” ?

(a)
(b)
(©)
(d)

The 1** Law of Thermodynamics
The 2™ Law of Thermodynamics
The Coase Theorem

The Porter Hypothesis

Which Law of Thermodynamics states “The change in the internal energy of a
closed thermodynamic system is equal to the sum of the amount of heat energy
supplied to or removed from the system and the work done on or by the system” ?

(a)
(b)
(©)
(d)

The 1% Law of Thermodynamics
The 2™ Law of Thermodynamics
The Coase Theorem

The Porter Hypothesis

What is entropy ?

(a)

(b)
(©)
(d)

Energy used in economic activity like production, transportation and
consumption.

Economic differences equalize over a decade.
Energy differences equalize over time.
All energy comes from the environment.

One of the important implications of an Environmental Kuznets Curve (EKC) is

that :
(@)

(b)
(©)

(d)

At low levels of income, pollution does not rise with flat growth because the
pollution response is weak.

Growth and development in a country does not necessarily lead to
environmental degradation.

As income falls, the willingness to pay for environmental quality rises and
increasingly large sacrifices in consumption are made to provide great
environmental benefits.

Below a threshold level of pollution, the dirtiest technology will not be used.

Which item from list below is a positive externality ?

(a)
(b)
(©
(d)

Public Immunization

Traffic jams

A neighbour’s barking dog
All answers above are correct.
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What is a market failure ?

(@)
(b)
(©)

(d)

Something prevents the market to allocate resources efficiently.
Both consumers’ and producer’s surpluses are maximized.

Free market of individuals acting in their own self interest leads to a socially-
desirable result.

None of the answers is correct.

What is a bundle of rights that describe an owner’s rights, privileges and
limitations for use of a resource ?

(a)
(b)
(©)
(d)

Private goods
Public goods
Property rights
State-property

Which answer below is not a market failure ?

(a)
(b)
(©)
(d)

Asymmetric Information
Monopolies
Externalities

Economies of scale

Which one of the following is not a source of market failure ?

(a)
(b)
(©)
(d)

Public goods

Product is both rival and excludable.
Presence of externalities
Asymmetric information

Market failure can occur when

(@)
(b)
(©)
(d)

Monopoly power exists in the market
Properties rights are not well-defined
Moral hazard and adverse selection exist
All of the above

Goods such as Hamburgers and French fries are examples of

(a)
(b)
(©)
(d)

Rival goods
Non-rival goods
Public goods
Non-exclusive goods
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(12) Why do politicians prefer command-and-control regulations (CAC) ?

(13)

(14)
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(a)
(b)
(©)
(d)

Many are trained as lawyers.
They create laws and regulations as their jobs.
The costs of CAC are not obvious.

All answers above are true.

Please define the Emission standards for command-and-control regulations :

(a)

(b)
(©)

(d)

Regulates the amount of pollutant present in the surrounding (ambient)
environment.

Regulates the total level of emissions allowed in a locality.

Government uses price and quantity mechanisms to internalize the
externalities.

Require polluters to use certain technologies, practices or techniques.

Subsidy is one of the ways to fix the negative externality caused by pollution.
However, there are some problems with subsidies. Which answer cannot be
considered a problem of implementing a subsidy :

(a)
(b)
(©)

(d)

New firms may enter market, decreasing total pollution level.
The polluter receives money from the Government, rather than paying.

Subsidies are often politically motivated and can be difficult to remove when
no longer needed.

Need to raise taxes to pay for subsidies.
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